- 3 & %
1 SEEEOEE T L

£ M OB &

N A 1
1 #BEASG TEoRBERERSE] VxS,
2 TERVEEEADT, BEORBEZELTESL,

8 PHEOPERNBEERLRYET.

[1] ®oBMIZEzESL,
(1) 4-12:(-2) EHELESL,

=416
%4 o
(&) 2230 pmiman,
= 203a-b)=(Satb) o

6 e _n
x 66.-3-5*50."” ' L

(3) Gx%yron? EHELEEL,
6x-24:20 Ix3~y =10

32
= b3y ———2;‘( 7(.'5;— = |22 —-} 1_2345‘ “‘é=i
! 3x-y=10 7 % 75 YRy
(4) ﬁﬁﬁ#&iﬁ{x_zi_f, ERELEL, c 3, gt
N ' - ’ . : .1‘:} ’ 7 '
(5) BOBBORERBHEL.  ypa ] @3%—
3 |
g 5 T3 . O| _ x




(6)

(7)

b
=22 %4 l_ourﬁaaméu

a~p=2
-——--C’/) ‘?cfb

E@E?Ax@i%éi*bhéma

_108°,

(8) KM2{EOENCBERBIZRISBEE, HicBORORISRIH SHEERHESL,

[2] %o | cSTHEEIREEEATEL,

2RO (x+1) (x+2)=x,2+Mx+m |
| 2,

BRD. _(x+1) =x +-x+ _

_3—#
2RO  (¢-1)=x?- x+

..‘2--# _.'..-,;J_
AR@ (x+1) (x-1)=x*-[(7)

Aa

[8] ROKEEEM LA,

A1)

(3}

(5)

1
4.

-
-

(3a%-a)+ (—%)

1 J003H-8) —a-%)
230.131(;——2) -8 xf;-—%)
-4+ 3 "

{a—1) (a +a+1)

= &,3‘1'0..1'?&“ at-a -1
- 3-]. .
‘gLﬂu4h

(x-10)2

:31f-26hr+102m

1121314514

Lol 1ol Joi A =6x4:36

2] A :

ol 1o jo a1

I

Tlol 1ol 1o

6

(2)  (x-4) {y-1)
LY-2-4&yrq

(4)  (x+3) (x-5)

L2415
5

(8) (4x+1) (4x-1)

=6~
-_____-‘“_.



(7)  (5-y) (y+5)
2(5-4)(5+4)
et “Zg._ %'Z ‘

[3] ®OXEHEED LS,
(1) (a+b-4) (a+b+4) |
= (A~ AR Catb=Acing
= AL '
= { b)Y —1d
= Q¢ b th’- lb
[5] zmzt&wﬁzuéﬁ\a

(1) xy-xz

=5€.{ng2{%

(3) x%+9x+14
=(L+2)(24)
-~ -

(5) xz-_.6x+9

={x-3)*

”

[6] nomzmEERRLAESL.

N y 2108
(1) x°-3x-108 2 2 54
= x- 2) 3x3%
{x- R (»2) M
~ AL
g x4
a2
(3) 9x2-30mp+25p2 -
- —u\L
= (32-59)
—— _a_“

(8) (3a-5b)%"

=9a>- 30z} r25b*

(2)  (x-1) (x-4)-(x+4)?
2P ab (A8 r16)
= AP-BuAG- LG a 16
= :_131—- [2

Lr
L4

(2) 4a’b-6ab®

= Jab(2a-2b2

(4) x%-10x-24
= (1‘*!2)_(1:}1)#% |

(6) a?-1

2@ (a=1)
F N

b

.(2) ~6x2—3OIx+36
=6 {a*-butbh)
s (x-2-32 .

(4) 4a®-16b°
=4 (or- 20) |
= 4{or2b)(a-Zb)
_ A A

-



Rw%ﬁﬁ[:%iggbxu
(1) x=197D&E, x*+6x+I DEERDHLES L,
| (23 oo
Y < 400
2 -nm_-—"---———""'f"_
(973 _
= zw? \/

(2) AOMABABCDIE, 18N8 cmOEAWRTT,

BEDIT-EAMOMBEXFEAVTRLAIL,
£4- < X ‘(S-x]

=% - er,fs,"f (emm)

8em

(3) #@7.SmOABOBOPE, #E2.5m0
BEOEBABYET, COLE, THOBNE
R HOERERDEE Y,

L, AEAER3.14 & LET,

75X15x3ﬂkw25x25xgm?
ERUANS R PN, _
Rt A (A ETREEEDY TF, )
= O X534 | : : ‘
3157'{032:1)#_




